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1. Which of the following is true about the work of the archaeologist and anthropologist? 
 

a. It is largely interpretive of  scattered evidence 
b. It allows us to present a detailed picture of early human history 
c. They do not use scientific methods 
d. The work is basically reliant on the imagination 

 
2. Which of the following does not apply to the work of anthropologists and 

archaeologists? 
a. Radiocarbon dating 
b. Biological analysis of organic remains, including blood, xx and plants 
c. DNA to trace human evolution 
d. Scientific experimentation 

 
3. Homo sapiens sapiens, or modern humans, probably spread out from here about 

100,000 years ago. 
a. The Middle East 
b. Asia  
c. Europe  
d. Africa 

 
4. Neanderthals died out possibly as a result of 

a. Their inability to adapt to their environment 
b. Their fragile anatomy 
c. Their conflicts with homo sapiens 
d. Their inability to communicate 

 
5. Recent DNA testing has revealed  that 

a. Neanderthals were brutish and ape-like 
b. Eurasians are between one and four percent Neanderthal 
c. There is no genetic connection between modern humans and Neanderthals 

 
6.  Geneticist XXXXX speculates whether a gene accounts for what he describes as the 

“human insanity.” By this he refers to 
a. the inter-breeding between modern humans and Neanderthals 



Intro. 

Meanwhile, fighting was raging in the Pacific 
and in Asia.  After its successful attack on Pearl 
Harbor, Japan had taken over the Philippines 
and other territories on Asia and the Pacific. 



The War Begins to Turn Against Japan 

In 1943, the tide began to turn against the 
Japanese when the strength of the US Navy 
began to overpower them in the Pacific.  
American forces began freeing  Pacific islands 
from Japanese control.  Once Germany was 
defeated, the US prepared for a massive 
invasion of Japan. 



The Atomic Bomb and the Japanese 
Surrender 

The US had begun development of an atomic 
bomb even before  it entered the war.  American 
leaders had feared Nazi Germany might develop an 
atomic bomb first.  Although the bomb was 
expected to be a weapon against Hitler, Germany 
surrendered before it could be used. 

When President Truman learned that an invasion of 
Japan might result in a million American 
casualties, he decided to use the new bomb 
against Japan. 



The Atomic Bomb and the Japanese 
Surrender cont. 

Truman selected the cities of Hiroshima and 
Nagasaki as targets, since both of them were 
centers of military production.\ 

Nearly 100,000 people were killed by the enormous 
ball of fire at Hiroshima; 36,000 died at Nagasaki. 

Thousands of others died later from burns, wounds 
and radiation sickness.  As a result of these 
bombings, and the fact that the US agreed to let the 
Japanese Emperor remain on his throne as a 
symbol, Japan surrendered. 



The Occupation of Japan 

American forces occupied postwar Japan.  Japan’s 
overseas empire was taken away, and her military 
leaders were put on trial. 

General Douglas MacArthur was assigned the task 
of rebuilding the Japanese government and society. 

Under his leadership. Important changes were 
introduced. A new constitution went into effect in 
May 1947 making Japan a democracy.  Japan was 
forbidden from having a large army or navy. Japan 
renounced the use of nuclear weapons. 

 


